1. Consider the following flow chart

function B=my_rref(A)

B=A
Let M,N denote row number and col

number of B
. lOutput B

pivot_col=0;
for j=pivot_col+1:M

| recruit row i

1]

find the first on-zero element of col j from row 1 to row M

if such element exist
Use it to create a leading | for row i and eliminate other elements in column j
pivot_col=j;
break

end

problem A

problem B

A.  Write codes to resolve “find the first non-zero element of col j from row 1
to row M “

B. Write codes to resolve “Use it to create a leading 1 for row 1 “
2. Write codes to implement my_rref
3. (100 points) Test my_rref with
A=[002-2;33-39:44-211]; b=[2 12 12];my_rref([A b'])
A=[3-33;2-14;3-5-1];b=[97 7];my_rref(JA b'])
A=[12-13;24-27;-1-21-41];b=[4 10 -6];my_rref([A b'])
A=[115;013;128];b=[3-13];my_rref([A b'])
A=[1-1-2;2 -3 -5;-1 3 5]; my_rref([A eye(3)])
A=[115;127;2-14]; my_rref([A eye(3)])
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